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	y  2 sin (x  45()  3
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	y  3 cos (x  60()  4

	
	
	
	

	y = 2.3 sin (5x – 30°) + 4.2


	
	
	
	

	
[image: image3.wmf]6

2cos37

yx

p

æö

=-+-

ç÷

èø



	
	
	
	

	
[image: image4.wmf]2

7sin33

yx

p

æö

=-+-

ç÷

èø



	
	
	
	

	y  6 cos (3x  2()  1

	
	
	
	


2.  Given the following characteristics, write the equation of the sine function for each in the form 





y  a sin b(x  c)  d.
a)
phase shift of 
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 vertical displacement of 5, and amplitude of 3
b)
period of 120(, phase shift of 50(, amplitude of 
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 and vertical displacement of 4
c)
period of 8( and phase shift of 
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d)
period of 3( and vertical displacement of 2
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